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Bell Work:

In Standard form (Ax + By = C), what two points on the graph does this form give
us?

X%/\/ (/1%4?/“6‘&/7—%5

In point slope form (y - y; = m(x - X,), what does m, x,, and y, mean?

N = S,@VQ/ C}(/}yb = Siven /ann’é"
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More About Linear Equations
_ <loye
Write an equation of each line. p‘)‘“% 4 \// 71’/\/’“ (\"%B
- 2 % 19 slope —5; through (9, -1)
1. slope 6; through (0, 4) - §lope —; %
Y=g (x-07 1= = 5(%=9)
-V (x YHl= ~5x #15
Fdoyy -1 -\
Y=bx + Y V= 6x 477
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Write in point-slope form an equation of the line through each pair of points. To ™ = 7\%
start, substitute values for (x1, 31) and (xz, 32) into the slope formula. X —x
XY %2 a ALY Yava 3 s 2
58.(2.7)and (-4, 1) g f gl f 3} 2 4 N
] -7 ——Q Wl ) Rt W S 1) 7 ( - 13
== = ¥ 5 5
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V=7 =1 (x-2)
0 y/_i:i(x__g
Y=1=1({~x+y)
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Ax +§\/:C/

Write an equation of each line in standard form with integer coefficients. To start, multiply
each side by the least common denominator of all fractional coefficients.

3= 3,¢€
59(=——x— >é
é\/zﬂ/\(% -
Gy = ~Ix4 5
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@. Reasoning The line y+4 fm% (x — 8) contains point (a, 2). Find a. Show your
7N

work. X >/

2 Y= ;f/f@,_@

C=3a-%7 ()12 - %o (¥
- 2 75/:0
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a JL = o
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Find the intercepts and graph each line. >/

/ ®. -2x+y=6
AL +y=6  -Axt0=6

>/-:, - ’EX‘E
- -9
(OJ ) X=-3
\/——10*7 (-3, 0) =
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Write an equation in slope-intercept form for each line.

5 . the line parallel to y=4x — 1 through (2. 7) /“7/ = fj_\><—><)3
M= T 7“7:L/(><~;13

- 7= Yx =&

(mm\“Q\ )\AKS >/7L7 11’7

- Y% — |

= I ¥ 7o

“ ﬁ.%liﬂﬂpﬂpmﬂiﬁﬂﬂltﬂ}'=—%x—5 through (6, 3) \/v3 = 3(){—-6\
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V=T% -5
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Rosa must read 30 pages of a book for English class. It wall take Rosa about 90 minutes to
complete her reading. Draw a graph and write an equation to represent the situation.

L =
ye

Fox
3 G 7
10 M
[ (] According to the information in Exercise 8. how long will it take Rosa to read 45 pages?

()45 = B\/X (D

145 = % G mn b el 5 pos
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